Sample 2 in medium pink features overlapping picots

Approximately 82 - 9 feet.

Picots are 1” high, measured closed

R 5 - (used for joins) 3 ---- (long picot = 2" long before closing)3 ---- 3 ---- 3 ----3 —
(used for joins 5) clr

Leave no space between rings.

Method for sample 2:

R 5 (joining picot), 3 #1 long picot, 3 #2 long picot, 3 #3 long picot, 3 #4 long picot,
(joining picot) 5 clr.

Thus, the first ring has four picots. Picots #1 and #3 will join to second ring. Picots #2
and #4 will join to the last ring made in the piece. Subsequent rings will have two new
picots and two joined picots. Remember the first and last small picots are for joining
only.

Second ring R 5 + (to small picot) 3 long picot, 3 + (join to long picot #1 of first ring),
3 long picot, 3 + (join to picot #3 of first ring), 3 - 5 cr.

Repeat around, joining the #2 and #4 picots of the first ring to the last ring made.




